
upstream_1

Entries  19

Mean    3.519

RMS    0.0428

Underflow       0

Overflow        0

Integral      19

Time  (ns)
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upstream_1

Entries  19

Mean    3.519

RMS    0.0428

Underflow       0

Overflow        0

Integral      19

=90 degθEshower=0.06 GeV, 
Time=3.523, Delta x=-0.015 ns
Thresh=5.0 p.e.

Upstream: Time in layer 1 upstream_2

Entries  56

Mean    3.673

RMS    0.08962

Underflow       0

Overflow        0

Integral      56

Time (ns)
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upstream_2

Entries  56

Mean    3.673

RMS    0.08962

Underflow       0

Overflow        0

Integral      56

Time=3.674, Delta x=0.032 ns

Upstream: Time in layer 2

upstream_3

Entries  52

Mean    3.868

RMS     0.177

Underflow       0

Overflow        0

Integral      52

Time (ns)
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upstream_3

Entries  52

Mean    3.868

RMS     0.177

Underflow       0

Overflow        0

Integral      52

Time=3.839, Delta x=0.037 ns

Upstream: Time in layer 3 upstream_4

Entries  3

Mean    4.154

RMS    0.05137

Underflow       0

Overflow        0

Integral       3

Time (ns)
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upstream_4

Entries  3

Mean    4.154

RMS    0.05137

Underflow       0

Overflow        0

Integral       3

Time=0.000, Delta x=0.000 ns

Upstream: Time in layer 4


